
Big Idea of the Day--Fiscal Policy Multipliers

I. Fiscal Policy Multipliers

     A. Automatic fiscal policy is a change in fiscal policy triggered by the state of the economy; discretionary fiscal policy is an action initiated by an act of Congress.

     B. Lump-sum taxes are taxes that do not vary with real GDP and, for that reason, are easy to analyze.

     C. The government purchases multiplier is the amount by which a change in government purchases is multiplied to determine the change in equilibrium expenditure.


1. A multiplier exists because government purchases are a component of aggregate expenditure; an increase in government purchases raises aggregate income, which induces additional consumption expenditure.


2. An increase in government purchases shifts the aggregate expenditure line upward, thereby raising equilibrium expenditure. These changes are illustrated in Figure 30.1, in which the aggregate expenditure line shifts from 
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 to  and equilibrium expenditure increases from $5 trillion to $7 trillion.


3. The government purchases multiplier is 
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 where MPC is the marginal propensity to consume.

     D. The lump-sum tax multiplier is the amount by which a change in lump-sum taxes is multiplied to determine the change in equilibrium expenditure.


1. An increase in lump-sum taxes decreases aggregate expenditure, so the AE curve shifts downward.


2. The lump-sum tax multiplier is 
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 It is negative because a rise in lump-sum taxes causes a decrease in equilibrium expenditure.


3. The lump-sum transfer payments multiplier and the lump-sum tax multiplier are the same except for their signs — the transfer payments multiplier is positive.

     E. Taxes that vary with GDP (i.e., rise during expansions and fall during recessions) are called induced taxes. Most transfer payments are in entitlement spending, which rises during recessions and falls during expansions. Both effects diminish the size of the government purchases and lump-sum tax multipliers.


1. The marginal tax rate is the fraction of the last dollar of income paid to the government in net taxes. Because people must pay taxes to the government, a dollar of GDP translates into a smaller amount of disposable income. 


2. When taxes and transfer payments depend on income, a dollar increase in GDP has a smaller impact on consumption expenditure, which means the government purchases and lump-sum tax multipliers become smaller in magnitude.


3. The larger the marginal propensity to import becomes, the smaller is the magnitude of the government purchases and lump-sum tax multipliers.

     F. An automatic stabilizer is a mec[image: image1.wmf]0
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hanism that reduces fluctuations in aggregate expenditure without explicit action by the government. Income taxes and transfer payments are automatic stabilizers.


1. Because income taxes and transfer payments change with the business cycle, the government’s budget deficit also varies with this cycle. In a downturn, taxes fall, transfers rise, and the deficit grows; in an upturn, taxes rise, transfers fall, and deficit shrinks.


2. The structural surplus or deficit is the surplus or deficit that would occur if the economy were at full employment so that real GDP equals potential GDP. The cyclical surplus or deficit is the actual surplus or deficit minus the structural surplus or deficit; that is, it is the surplus or deficit that occurs purely because real GDP does not equal potential GDP.

II. Fiscal Policy Multipliers and the Price Level

     A. An increase in government purchases (or decrease in taxes) shifts the AE curve upward and shifts the AD curve rightward.


1. When government purchases increase, the magnitude of the shift in the AD curve equals the government purchases multiplier times the increase in government purchases. When lump-sum taxes decrease, the rightward shift in the AD curve equals the lump-sum tax multiplier times the reduction in taxes.



a) Expansionary fiscal policy, an increase in government expenditures or a decrease in tax revenues, shifts the AD curve rightward.



b) Contractionary fiscal policy, a decrease in government expenditures or an increase in tax revenues, shifts the AD curve leftward.

     B. The effect of fiscal policy depends on whether there is excessive unemployment — in the short run — or whether the economy is at potential GDP — in the long run.

     C. In the short run, an increase in government spending raises the price level and increases real GDP. In Figure 30.2 the price level rises from 
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 and GDP increases to 
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1. The rightward shift in the AD curve equals the multiplied increase in aggregate expenditure.


2. The increase in GDP is less than the multiplied increase in aggregate expenditure because the price level rises.

     D. In the long run, money wage rates rise,  shifting the SAS curve leftward. In Figure 30.3, the shift from 
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 raises the price level from 
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 and returns real GDP from 
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 to potential real GDP of 
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1. In the long run, fiscal policy multipliers are zero.

     E. Because real GDP increases in the short run, fiscal policy can be used to help stabilize the economy.


1. In practice, stabilization is difficult because of lags and uncertainty about the level of real GDP relative to potential real GDP.
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